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2.6: Rational Zero Theorem

The Rational Zero Theorem
If f(\') is a polynomial then every rational zero of
f(x) comes in the form of...

Loactors 1 csteat lerm
Yactrs oF |eading cpeof.

Pay 4 :
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ex: List the possible rational zeros.

a)f ~TIx*+9

-Fac‘cors »* K_:- \

eonstont/ 1€




ex: List the possible rational zeros.

q ¥
b) f(x)=4x"-x"-Tx* +4x-2




Complex Conjugate & Irrational Conjugate Theorem

Imaginary and irrational roots always come in

Cpr}'sw'a%—e 'pairs

3,30
247G, 2-1C
“L+HI6, —Q~G

VI, /75



ex: Write a polynomial equation in standard form with
integral coefficients and the given solutions.

b) 122 ((;ﬁ)(l*ﬁ)
| +y7, (=T -2




ex: Write a polynomial function in standard form with
integral coefficients and the given roots.

Y "
—— 3 - 'y
a) " 1) 3

Y = (sx+ ) x-3)(x+ 30)
Y= + 9)

@= SERE %Hﬁ




"Sum and Product Trick" - FOR QUADRATICS ONLY

y=ax?2 +bx + c

y=x% +5x + 6 3, =¥
y=(x +2) (x+3) 1P
® . Svm'- -4

Roots: -2 ‘ -3 er,‘ -
Sumofroots= -2+-3=-5 =
X + L{x-a!:\i

Product of roots =-2+-3=6

What to know...

Sum of Roots: — b Product of Roots: C




ex: Write a polynomial equation in standard form with
integral coefficients and the given solutions.

d) 3,2 Sum!34;+ 370 =

L:‘J' W&- (3“'0)(3"0)- ]O



ex: Write a polynomial function in standard form with
integral coefficients and the given roots.

b) L() multiplicity 5,} 1-/3 /j/

(75

Xe(xl—gx-;) Sum* -

5 L T P(bgibc-\"- s |
@ ~od X —-&9 (\+@D(-3)
|-

-3




